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Q. No. 1 carries 1 mark each : 1x12 =12
Q. Nq. 2-13 carries 2 marks each 25120 =24
Q. No. 14 -23 carries 4 marks each - 4x10 =40
Q. No. 24 - 27 carries 6 marks each 6x4 =24
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1. Answer the following questions : bli2=12
T frall 2 IseR Teq f g -
Fill in the blanks :

il 213, 71 =41 2
(a) Name the first secondary school in Assam.
ST - N Rvptersa i fopel
(b) University is the first open universily in India.
TR SRewRE ey Yo R |
(¢} International Womens’ Day is observed on

(d)

(e]

SEEIeF 19 Fg SIfETY e 91 27|

Attention paid by students to study at the time of examination
is attention.

BI4E 2T NS SRS Al ] SIS Y I |
Treatment of rﬁcntal diseases is the _ Function of
mental hygiene.

SR Bl b wigRess . @i

Satisfaction and practice are basic factors in
method of teaching.

e S SR o R A&(oq T AW |

Give short answer in one sentence :
B! T by Bad 73] 2

()

(h)

Mention one characteristic which distinguishes ‘Non-formal
Education’ from ‘Formal Education’.

01 G2y Cemr il R S B st weresifen R A9 e |

Objectives of Environmental Education were determined in

conference.
AR BT S e Sdi|e o) Cafee |
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(0 Write a common characteristic of maturation and learning.
ARl Sl e B SoTgS T e |
() Why recognition is easier than recall ?
RISl ehfifes Gy wgee
(k) What is Mean ? In a distribution Zf X =1480 and N = 50, find
out the Mean of the distribution.
NG 52 93 O Bf X = 1480 WIS N= 50 | SiFeeeq G foefa =4l |
() Which is the positional measure of central tendency ?
(SR SIS B 5T (G2 (=BICH 2

What do you mean by ECCE ? 2
ECCE 3feice1 & gene
What were the suggestions forwarded by Mudaliar Commission

regarding ‘Development of Vocational Efficiency’ as aim of
secondary education ? 2

SRS PP o7 RET Jfasers cisirel Ry s7ick Yoifemi wics s
TE 1 =ifee e

Why ‘Non-formal Education’ is considered as a supportive sysiem

of education ? 2
Sereigaifes e 5 < SRITeR F @ ol Rs 791 sw
Or / g2«
‘Distance Education is a flexible system of education’” — explain.
2

T G AR R e’ — e 3

Write two important characteristics of correspondence education.

2
TR MR 7o awgeel ey B
What is Population Education ? 2

Gl it T e
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10.

1l

12

IS,

14.

What is conditioned response? Which was the conditioned
response in Pavlov's experiment on conditioning ? 1+1=2

SFREe gl o (esied SREeE sQrGe SaEe dfefr @M
wifet 7
Describe the fwo parts of ‘Law of exercise’ of learning. 1+1=2

el SRpAeTE IS ©lsl 7h7 9 |

‘Forgetting is a blessing’ — explain this statement. g 2

s @ wER — G AL AN 90|

What is ideational attention ? Give an example. 1+1=2
RIS A GRENES Sl e @5 Srigae |

Or /&3
Why attention is considered as an exploratory process ? 2

AECSE [ @ Sepiaie a5 e 3 fesa o9 we

Write two demerits of Mode as a measure of central tendency.

2
(YA SFeR (el BRI IR 7l s Bl
What is the preventive function of mental hygiene ? 2

Wb wrgleE efsigess S e

What is Quartile Deviation? In a distribution Q4 =78-43 and
G, =61-44. Find out the Quartile Deviation. 1+1=2
vede Rpfe 7 a¥q o™ Q, =78-43 WIS Q, =61.44 59 Rpfe
e < '

Write four provisions of ‘Assam Secondary Education, Act, 1961".
4

T My B wiEy, 1961°-3 51567 v &)
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16.

1A

18.

19.

20.

2:15

‘Non-formal Education is based on democratic principles’

— Discuss. 4
wroRfes M sielEe MieT eve 2feRe’ — Sl F41 |
What is physical education ? Discuss three measures to impart
Physical Education in school. 1+3=4
ST e B e Beme RRe R amee [SRE aRE TS ScEvl 54 |
What is value ? Discuss briefly the importance of value education
in present society. 1+3=4
AR R 7 TG NS FACAN FFR 66 AAE T SACAGA
Discuss about fouwr important areas within the scope of
Environmental Education. ; ; 4
sifral e cifeo S99 bIRG! (FFas KA Dm0

Or /<2<

What do you mean by “Women Empowerment’ ? Write three
important objectives of "Women Empowerment’. 1+3=4

AT Tl e e AS e oAb wwerld Sr R

What is learning by insight? Mention two limitations of this
method of learning. 2+2=4

e Qe W e R @2 smfemE 70 ANEEe] SrEd S|

Distinguish between true memory and habit memory. 4

oips 3% S o YT Were < g (A |

Describe four objective conditions of attention. 4

TSR 51E0 S8R FIIE I64 T4
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“Attention and interest are two sides of the same coin” — cxplain
the staterment. 4

ST ST e sl SEie 1ol Y — wAraE i w9

22. What is frequency ? What arc the different parts of a frequency
distribution table ? 1+3=4

| qrcel B aeaEe) Role ik &fer el g fe 5

95. What is a bar diagram? What are its types? — Explain with

example (draw). 1+3=4
refEg fr? SaiT Rifen ol Tz & Be — S 7R 0l 4 (fba i) |
- or/9%
Draw a histogram from the following distribution table (use graph)
4
e e SRR o 5l SEehE e 94 (@rRba R S Alf)
Class-Interval Frequency
CHA-=F A BIESIE)]
50-55 4
45-49 6
40-44 10
3h-39 : 12
30-34 8
25-29 2
24. Discuss the suggestions of Kothari Commission regarding aims of
secondary education. 6
QT R o TSI (IR OGRS TR Sl
Or / <2<l
Discuss about the suggestions of National Education Policy, 1986
regarding secondary education. 6

i o Fofe ST ErERaife, 1986-1 A AYR SIEDl <4
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27.

What is learning ? Mention four major characteristics of learning.
2+4=6

e fF e Brmeie pIRE) 2YiW A S 54|
Or /g€

What are the primary laws of learning ? Discuss the application of
any one of those laws in the class-room situation. 3+3=6
e i Tifs @25 & 2 @ siRcee R SIS Tes Rler 9o
A FTCE SN 1 |

What do you mean by mental health ? What are the characteristics
of a mentally healthy person ? — Discuss. 1+5=6

0T T T 6 @l o IRPRFeE FERlE @] @D g & ke
— B 4 |

What is Median ? Compute Median from the following table :
1+5=6
T 52 Tor STl ol WA e <5
Class-Interval Frequency

EECREIG EIEISIEI]
55-59
- 50-54
45-49
40-44
35-39
30-34
25-29
20-24
15-19
10-14

NGO DN OB D e
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